


(—H&)

# BE B
S5 By )
Rk ASEREERR [E15emE T 15| ™
o EXZfREER - ANHFEAST
&1 24 R B A )
S ASEE4cmil k 10cmEL TR 6| ™
BH 0.2m3 ASZHEELR "y
. I E10emLLF 110
St ERE |F&5A
AEhRE AR HIARA BH 0. 2m3 ASZAZELR o
+T JE10cmil _E15cmLL 5
. 1B =HZ;A~4t DTEHE
1258
ASEERE BH 0. 28m3f&:A% L=4. OkmiAF 1o| ™3
Ny R IREIEEA 3
7 WS lrmssmaas BH 0.45m3 19| ™
~ MAMEAT0t DTEHE
1258
ASEERE BH 0. 45m3%&iA%4  L=20. OkmLL T 1o| ™3
n4
ASEM UL E MR R 28 t
FERET 2
i R M-30 t=5cm 51 ™
REZET )
R M-30 t=3cm 1o ™
H AR R EAS20mm
HEET & 2
& t=5cm 7" 5/APK-3 115 ™
BAZHEAS20mm
BT 2
shsE T = t=bcm 4v49PK-4 120 m
i AEt =28 N
15cmig B¢ 41
Bt ER -
0emiE o8 —F4 > 21
XEW En'%l Jerp— s —
EERRE wRt =26 N
45cmig B R 12
AR PO —RKER &
KPR H1500 x W750 9
e o A
RET |xERSA X EFEAN !
SEEEER 5|




REFERREERS

TEIGM FEBA|FEEB|EE R A
REH | mw|  Ekisosms o BLEES
IBE2 |BER246F 15 (FD1) 0.5 05 EE4105
IRE3 | EER246F 1% (FD2) 05 05 EE4105
BiE4 | RZARI548F104h5E 20 AREAER
IRIE5 A 1606 T Hh 5 10 BEREEARR
g 6_EFR it 1A 5\ — R EE SEILEER 28R




AsSHEVIBTHIKLERE

R RIEL
- NER1 m3 kg kg
55 SitEE 10~20 3.60 m 0.01 12 12
55 BEEE 0~10 111.70 m 0.19 228 228
&t 115 m 240
. 0.0037 m3/m
30emPL 1.2 t/m3
. 0.0027 m3/m
20cmBL T 1.2 t/m3
. 0.0017 m3/m
10cmEL P 1.2 t/m3
‘&t b 240 ke
SCAULER 60 FM/ke X 240 kg = 20,000 H
%330KglL N —74£20,000
SV H AR
= 4,000 M
L 8,500 [ (2K 1A)
&n 3,100 4
PH 575 M 16,175 M
SOEM
T 58.4 km(}y1H) — 116.8 km (1118)
SR E 30  km/h — 240 km/ H (8HF[H) (DIDXfH 7L )
FH B % 116.8 km -+ 240 km/H=  0.49 0.49 H
BE LR =

20cmBLTF 0.49 =] X 005 (HR#HEEE 003 0.03
10cmBLF 0.49 =] X 095 (HRHEMEE 046 0.46




w B M ¥ B
BEAEH (IT - HET £HR) * & 5 (R C 5 ®&m )
& W o T * ] G B M| HEmE e
R F2 F3 R4 &5
FRIR246 | FRIR246 | 5
I EAIBI0 Eies Fiws St KEE
FEithske (2D (2D ik =
1) 2)
R{ZIBASIE| 100 100 100 100 100
mxiyn (100
R — 17.10 17.00 18.40 46.50 16.30 | 11530 m | 115 m
Sk R EREMRHE - Ah - FARD
ASEsIE Edonplbioomu | 047 110 119 228 0.78 | 58 m 6 .
%ﬁﬁuﬁlﬁ&ﬁﬁ“ BH 0. 2m3 ASﬁﬁHﬁ
Wi
F— 14.09 10.92 11.83 58.80 13.95 | 109.59 m2 | 110 _,
%ﬁﬁuﬁlﬁ&ﬁﬁ“ BH 0. 2m3 ASﬁﬁHﬁ
Wi
R 100mLE 15omb T 5.28 528 | mw )
A RE EiH~4t DTER
B O.28n3H2% L=A.0knEL | 9 24 114 123 599 1.42 | 12.02 m 12
NI YR N
s RE ZHEH2H BH 0. 45m3
L 224 114 123 59 142 | 1202 wm| 12
BH 0.4n3AM L=20.0knblF | 2.24 114 123 599 1.42 | 12.02 m 12
MSEHLAR [BSHE RE
5.26 2.67 2.89 14.07 3.33 | 28.22 ¢ 28
#% T
LRERET
#E# W30 t=bom 5.28 528 | w ' w
FEEET
ARH 30 =% 14.09 10.92 11.83 58.80 13.95 | 109.59 m2 | 110 _,
EET 5 4 H  BEAS20mm
t=bom 7" 344PK-3 19.37 10.92 11.83 58.80 13.95 | 114.87 m2 | 115
t5an $uAPK-A 19.84 12.02 13.03 61.08 14.35 | 120.32 m2 | 120 _,
BmL 28 670 6.00 600 1465 750 | 40.85 m | 41
N I T 6.70 1.50 1.50 11.70 21.40  m 21
BfReXEL |3
Ema x8 12.00 | 12.00 m 2
ZHEIK  H1500 x W750 &
THBERA 0.5 0.5 1.0 | A 1A
ZEBER
ZHHERB 1.0 05 05 20 10 50 X 5 A




#H = it E(XI)
(=
A ¥ etk -tk g = BE |BHM
ASEREERRUIMT |ASERZERR E15emET "
T 360 X 3 + 6.30 = 1710 | 17.10
] o | AT EREREHEER
% P o hiE 7\
PRI | 150 /=50 015 x 315 = o047] o0a7|™
; " . 2
SR E EEAI |IBHO.2m t=0~100 ( 280 + 6.15)x 315 = 2 = 1400]| 1409| ™
& 9
BHO0.2m t=100~150 335 x 315 = 2 = 528| 528
RBE=1E~4t DTE 335 x 315 - 2 = 5.28
L=4.0km ( 280 + 630)x 315 = 2 = 1433
. 528 X  0.15 = 0.79
ASTEEI 5T 1433 X 0.1 = 143 m3
047 x 005 = 002
079 + 143 + 002 = 224| 224
NIRRT |[REZE  045m3k/\wokry m3
PEHIFEA 10tDT~NFRIA A 2.24
. BXH-0015
1 E n ﬂil_
ASTEER | 10iDT L=20.0km 204 | ™
J'L/\
ASEEH L5 3¢ 924 X 235 —  526| 526 °
M-30 =50
HREEET 335 x 315 = 2 = 528| 5.28 m2
M-30 t=30
< [l #
FREET ( 280 + 615)x 315 = 2 = 1409 | 14.09 m2
BAE A EAS20mm
LRT SR AR R A L EL 1937 | ™
xET BEZEHEAS20mm 6.30 x  3.15 =  19.84| 1984 | m2
Bt =R "
- 15cm Big 630 + 020 + 020 = 6.70 6.70
XEREREL e —
REGRRET Tax =m o —51s -
20cm Ef 630 + 020 + 020 = 6.70 6.70
*ﬁgﬁﬁﬁ xﬁéﬁﬁﬁB A
i 050 x 2 = 10 1.0




# 2 i BE&xI)
B2-2
——
FER2461H5E (FD1)
Ex 22 .0 7 " = HWE | BT
i ASEEEERR [E15emET
4fdE t
ASEHhR U1 T 425 x 4 = 1700 | 1700] ™
AN B ZERREE
SHEE AR BRI FESA |W=150 / =50 015 X 368 x 2 = 110 m2
1.10
BHO.2m =100
b b =
%ﬁaﬁ%ﬁiﬁ#ﬁm ( 080 + 530)x 368 = = 1122 m2
1122 - 030 = 1092| 1092
RBE =154t DTIEHE
) L=4.0km 110 X 005 = 005
i L
ASHEEHEE 1a| ™
1092 X 0.10 = 1.09
INYIRD REZ1E 045m3ik/ o™ i
PEHIFEA 10tDT~FEIA A 1.14
. REZIHG-00 15
10 E
ASTREIBE {007 L=20.0km g ™
I‘L/\
ASEER L HE 114 x 235 = 267 267| *
M—-30 t=30
NEEIET 5 e s . 2
TR BB L EL f002| ™
BAEHEAEAS20mm
HET ; el g s . 2
- BB L EL f002| ™
RET BAZREAS20mm ( 110 + 560 )X 368 — = 1232 m2
1232 - 030 = 1202 | 1202
e N
15cm _E14% 560 + 020 + 020 = 600 6.00
xEmnEsT (ARt XR U251V
XEHREE T 20cm & 110 + 020 + 020 = 150 150 ™
Bt AT —XER &
LPERZIK H1500 x W750 = 1 1
wmme  |RBBEEA 050 x 1 = 05 05
XBFER  [FEzEes 050  x 1 = 05 05| A




# = ¢ E(xI)
5-3
———
FEIR246F 115 (FD2)

A ¥ Ak -~Tik g = WE | BT
ASEREERRUIMT |ASERZERR E15emET "
T 460 x 4 18.40 | 18.40

AN EBRERREE
S AR FEIA [W=150 / =50 015 x 398 x 2 = 1.19 m2
1.19
%ﬁ%ﬁ%ﬁi&?ﬁﬁlj oroem = ( 080 + 530 )x 398 = 1213 m2
RS 1213 - 030 = 1183|1183
RBEZEIZ~4t DTEHE
ASBEEME  |L=4.0km 119 x 005 = 005 m3
1183 X 0.1 = 118 ] 1.23
INYIRD |[{REZEE  045m3fk/\woRy m3
PEHIFEA 10tDT~NFEIA A 1.23
. REZE-U5HI5
i L
ASTEER | 10iDT L=20.0km 123 | ™
J‘L/\
ASEEM 73 £t 123 x 235 — 289 280 | !
M-30 t=30
\*ﬁ I - . . 2
TREE S R AIA L EL 83| ™
EET BAFAIEAS20mm . . 183 m2
xET BEZEHEAS20mm (1.10 + 560 )x 3.98 = 1333 m2
1333 - 030 = 1303|1303
RN = N
N 15cm 48 560 + 020 + 020 = 6.00 | 600
XEHRET |l = -
XEGEET e %8 toi—510 -
20cm = 110 + 020 + 020 = 150 | 150
e e | RBBBEEA 050 x 1 = 05 05
BRER xEzEes 050  x 1 =05 [ o5] °




#H = it E(XI)
B-4
L 3
A E5488 101 5L
A ¥ etk -tk g = BE | BHA
ASEREERRUIMT |ASERZERR E15emET "
T 430 + 700 + 35.20 = 4650 | 46.50
AN ERERREE
S AR FEIA [W=150 / =50 015 x 380 X 4 = 228 m2
2.28
} «[BHO.2m =100
oy
“ﬁ*’zﬁﬁﬁ,%ﬁﬁ” 2403 + 1710 + 17.67 = 5880 m2
i 58.80
RBEZEIZ~4t DTEHE
ASHREWMRE |L=4.0km 228 X 005 = 0.11 m3
5880 x 0.1 = 5.88| 5.99
INYIRD |[{REZEE  045m3fk/\woRy m3
PEHITEA 10tDT~NFEIA A 5.99
s REZG—-00i5
i L
ASTEER | 10iDT L=20.0km 599 | M
J‘L/\
ASEEH L5 3¢ 509 x 2.35 = 1407|1407 *
M-30 t=30

< [l '

TREET S R AIA L EL 5880 | ™
EET BAFAIEAS20mm . . 55,80 m2
xET BEZEHEAS20mm 2460 + 1824 + 18.24 = 61.08(61.08| m2

B =R 0
15cm B#& ( 1125 + 040 )+( 260 + 040 ) = 1465|1465

XE“ En.% 5§F3Eit i%ﬁ ‘b>5‘—5’r>

X EHREET 20cm Ef 430 + 700 + 020 + 0.20 = 170|110 ™

B hS—KEE A
KFIERZIK H1500 X W750 = 1 1
xizam e | XIBREEB
BHEES 050 x 4 = 20| 20| A




H 2 i BE&xI)
B-5
A
A [E16062 #h 5
A ¥ Ak -tk g BE | BH6L
ASEREERRUIMT |ASERZERR E15emET "
T 200 x 2 + 325 X 2 + 400 16.30 | 16.30
AN ERERREE
S AR FEIA [W=150 / =50 015 X 250 + 015 X 275 = 078 m2
0.78
] w 2m t= ] X 2. = = }
sl - - - - .
i 868 + 529 - 002 = 13.95[13.95
RBEZEIZ~4t DTEHE
ASHREWMRE |L=4.0km 078 X 0.05 = 003 m3
1395 x 0.1 = 139|142
INYIRD |[{REZEE  045m3fk/\woRy m3
PEHIFEA 10tDTAFE A H 149
. REZG—-00i5
i L
ASEER 11007 1=200km 142 | ™
N\
ASEEM 73 £t 142 x 235 — 333|333 | !
M-30 t=30
< [l '
TREET S R AIA L EL 13.95 | ™2
EET BAFAIEAS20mm . . 1305 m2
710 x 250 =+ 2 = 887
xET BEZEHEAS20mm 400 x 275 + 2 = 55 m2
887 + 550 - 002 = 14351435
B =R 0
RE@EE T }jgm.aj,% 710 + 020 + 0.20 = 750 | 750
Bt =R "
45cm B 400 x 3 = 1200 [12.00
e o RREAEER
e L e 050 x 2 = 10| 10| M




